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

Time : 2 Hours        [Maximum Marks : 70

Note :This paper is of Seventy (70) marks divided into two

(02) Sections A and B. Attempt the questions con-

tained in these sections according to the detailed in-

structions given therein. Candidates should limit their

answers to the questions on the given answer sheet.

No additional (B) answer sheet will be issued.

            

         





       
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Section–A / 

(Long Answer Type Questions) /    

Note :Section ‘A’ contains Five (05) long-answer-type ques-

tions of Nineteen (19) marks each. Learners are re-

quired to answer any two (02) questions only.

(2×19=38)

     (05)    

     (19)   

(02) 



1. Describe in detail the functions of the state accord-

ing to Kautilya.

  



2. Define scientific management as proposed by Taylor

and discuss Taylor's study of time and motion.

        

        

3. Discuss in detail the results of the Hawthorne ex-

periment propounded by Elton Mayo.
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        

   

4. Explain in detail the views of F.W. Riggs on the

addministration of developing countries.

        

      

5. Discuss Max Weber's ideas on power and compare it

with Marx to see which idea is more reasonable.

       

          

    

Section–B / 

(Short-Answer-Type Questions) /    

Note :Section ‘B’ contains Eight (08) short-answer-type

questions of Eight (08) marks each. Learners are

required to answer any Four (04) questions only.

(4×8=32)

    (08)      

      (08)   
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  (04)  

 

1. What does 'S', 'D' and 'Co' stand for in 'POSDCORB'

as propounded by Luther Gulick? Explain.

POSDCORB)

'S', 'D'  'Co'     

2. Explain the 'X' theory as proposed by McGregor.

    X'   

3. Explain the concept of work prosperity as pro-

pounded by Herzberg.

       



4. Answer briefly the principle of responsibility, hier-

archy, coordination and specialization propounded by

Urwick.

   

       

5. What is 'Rule of the fish' according to Kautilya?

Answer briefly.
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     



6. Why is Herbert Simon called a multifaceted thinker?

Answer briefly.

        

   

7. Answer briefly the important contribution of Chester I.

Barnard regarding the theory of power.

         

      

8. What does planned and non-planned mean according

to Herbert Simon? Answer briefly.

     

      
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